
3-Digit Minus 3-Digit Subtraction (D)
Name: Date: Score:

Calculate each difference.

941 − 931 =

915 − 892 =

912 − 895 =

728 − 192 =

859 − 238 =

879 − 240 =

650 − 290 =

942 − 888 =

429 − 403 =

779 − 184 =

912 − 311 =

882 − 108 =

868 − 229 =

815 − 128 =

884 − 505 =

394 − 169 =

953 − 690 =

692 − 682 =

916 − 140 =

719 − 369 =

539 − 449 =

829 − 569 =

681 − 196 =

676 − 499 =

960 − 407 =
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3-Digit Minus 3-Digit Subtraction (D) Answers
Name: Date: Score:

Calculate each difference.

941 − 931 = 10

915 − 892 = 23

912 − 895 = 17

728 − 192 = 536

859 − 238 = 621

879 − 240 = 639

650 − 290 = 360

942 − 888 = 54

429 − 403 = 26

779 − 184 = 595

912 − 311 = 601

882 − 108 = 774

868 − 229 = 639

815 − 128 = 687

884 − 505 = 379

394 − 169 = 225

953 − 690 = 263

692 − 682 = 10

916 − 140 = 776

719 − 369 = 350

539 − 449 = 90

829 − 569 = 260

681 − 196 = 485

676 − 499 = 177

960 − 407 = 553

Math-Drills.com


